1Je1g 01 Uol1Ing OSNOo|N SsSodd

MWAN HOVAANOH/3}2U” [UST [NOPaI: (o)
12U 1Seouodmlua] [NopaJg: [1el 1
llel-€vv—Gc6 =212l
Vs
0SST¥6 VO SJI0WISATT]

Ae| uospnH 99¥1
ua1[n) 9 11ouas(
(uoTyeWJIOJU] DLVIUO) JUSSSI])
sl 1np H 3joudsdg
Aq
(T-8102 uols.as))
LOTdTVAH wexso.ad




QGT—-OH—-29 (ASN) ASasuy uspiou] .
oﬁ OH 01

\
AN
N
~
AN

(k) ——
(doputemea‘d) ------
o13Se[au] uojoyd ——

Lvireiiiteins L L L L L | TR L L L L L L
SUO1309g SSOI) UIATIDY O
8GT1-OH-L9 Jolep uojoyd 9049 LVI

(Sugeq) UO13095 SSOID




8G1-OH-49

(ASN) ASasuy juspiou]

Q
—

3 (,ud) ——
p (,u'd) —---
: d (,ud) ————
4 o (ugd) ———
3 JU‘dL) ———
3 (ug‘d) ~--—--—-
i (ugd) ——

8G1-OH-49

mmoﬁpvwm Wwono_zﬁ>ﬂwx_o
uo13onpoid uoJjnaN uojoyd

9049 LVI

(Suaeq) uo1109g SSOI)



8CT—OH—-2.9 (ASN) ASasuy juspiou] 'S
o] Ol

T
~
-
Bt

S
~==
Logarononenon o)

~
~—o

-
_—
Logorivnnn o [FRRR NI

.

(d'4) —— ! / |

| A (uid) 7y | / :
s p— / / / m

| o2 (jud) —— \ / E
d (ud) —— / / .

o (uZd) - 2 e yd ]

o (,ud) — ~.___ \\\ m

3 _.\\\ TtV

_maowvoww mmonv zﬁ>~®M 0
8CT-OH—,9 a[o13aed pasaey) uolouyd 9049 LVN

o012}

(Suaeq) uo13109g SSOI)



8GT-OH-L9 (ASN) ASasuy juspiou] ¥
(O} 07 01

~
Ligonnanen s o)

\
Logonnonen s o)

-—
[RRRR NI

—
Livravoranan o

(e=HL) ——

Wzowvowm WWOMU mﬁ>;®M_o
8CT-OH—,9 a[o13aed padaey) uoloyd 9049 LVN

212!

o012}

(Suaeq) uo1309g SSOI)



8CT—OH—-2.9 (ASN) ASasuy juspiou] &

unnuiquoy (,u‘d) -——
12497 (L, U4) 16 =LK ——— ||
punoayn (,u‘d) ------ |
o13sersu] uojoyd —— ||

—
(AR I

_mzmwvovm mwono zﬁwﬂwm 0
8GT—OH-L9 [oaoT (,u‘d) 9029 LVN

(Suaeq) uo13109g SSOI)



67-Ho—-158

MAT 6706

(7,p) Levels
O Kelvin Cross Sections

(7.p)

0

[le]

<t

(@)
—

0 0 0 o)

© ©
@) 1O
— —

(Suaeq) uo13109g SSOI)

le]

o

—
@)
—

0

67-Ho—-158

Incident Energy (MeV)



67-Ho—-158

MAT 6706

(7,d) Levels
O Kelvin Cross Sections

(7.4d)

0

0

«©
@)
—

0

0 0

00]
1O
—

(suaeq) uoiqjoeg

0

o

—
1o
—

SSoJa)

le}

0

aY]

—
1o
—

0

67-Ho—-158

Incident Energy (MeV)



67-Ho—-158

MAT 6706

(7,t) Levels
O Kelvin Cross Sections

<7’,t) /

1O2

le}

0

0

@©

@)
—

0 0 0 0 0 < 0

-~

o aY

— —

1o 1o 1o
— — —

(Suaeq) uo13109g SSOI)

67-Ho—-158

Incident Energy (MeV)



(v,He3) Levels 687—-Ho-158

O Kelvin Cross Sections

MAT 6706

(v,He-3)

102

[le]

0

o

-~
1O
~—

0

0 [le] [le] 0 0 0

N < ©

-~ i i
(@] @] 1O
~— ~— ~—

(Suaeq) uo13109g SSOI)

67-Ho—-158

Incident Energy (MeV)



8GT-OH-L9 (ASN) £Basuy juspiou] 071
0T (0] 0]

(0'h) —

Livrtienr ' ' ' ' ' ' Levoirenis ' ' ' ' ' ' | ' ' ' ' ' =
SUOTI}09g SSOI) UTAISY O
8GT—OH-L9 s[oa0T (0‘L) 9029 LVN

(Suaxeq) uo1l09g SSOI)




8GT—-OH—-29 (ASN) ASasuy juspiou]

[

QUOGT-OH—L9 ——
JUQGT—OH—L9 -
89GT-OH—L9 ——

:oﬁpoww mwogo_aoﬁﬂostpm ®vﬁﬁmsaowvom_
8GT1-OH-L9 (ugd)

9049 LVI

(Suaxeq) uo1309g SSOI)



8GT—OH-L9 (ASN) ASasuy juspiou] A

2 moH 8 8 L 9 g 4 €

E” T _ _ _ _ 3
QUZGT-qI—C9 - ]
2G1-41-G¢9 —— ]

E _ _ _ _ _ _ _ : 3

UO 13088 SSOJI) UOI3OoNpodd oplionuolipey
8GT—OH-L9 v (ugd) 9029 LVN

212!

012!

(Suaxeq) uo13109g SSOI)



8G1-OH-49
Ot

(ASN) ASasuy juspiou]

01

el

\ 4
~—
| PRTTO

LUQGT—OH—9 ————
JUQGT-OH—L9 -
3gGT1-0oH—2L9 ——

8G1-OH-49

moﬁwowm WWOMO aowposvowm vawosamwvom

(£°4)

9049 LVI

o012}

Ot

(Suaeq) uo13109g SSOI)



8GT—-OH—L9 (ASN) ASasuy quepriou] $1
(O} 07 01

SUyGT—qL-G9 ————
TuyGT—-qL-C9 -
S¥GT-AL-G9 ——

| P TR VI TN T TP L L | TP TP PO T TP L L L
UO13098 SSOJ) UOI}ONPoJIJ opl[onuolipey

8GT—OH-L9 (0 d) 909 LVN

(Suaeq) uo1309g SSOI)




(ASN) ASasuy uspiou] o1

8GT—OH—L9
2 moﬂ 8 9 4 2 ﬁoﬁ 8 9 4 2 OOﬂ g 9 4
T T T T T T T T o T T T T T T | AL T T T T T B
E [ W g
/ | 912t
E \__ W g
E \ W G
/ |12t Q
| ] (0]
\ 3 S
3 ! EKe] 0)
E \ 3 w0
h (0]
! ] 0
” C
! ic 0
3 / 3 =
/ 1212t~
! 1 o
i 3 o
/ 19 g
\\ W G
/ | 012’
3 / JuOGT-NE-g9 - e
/ J0GT-nd-€9 — | |
[T . . . . [T . . . . ] 3
UO 13088 SSOJI) UOI}OoNpodd oplionuolipey ¢
(g 4L) 9029 LVN

8G1-OH—-49



8G1-OH-49

(ASN) ASasuy juspiou]

8G1-OH-49

(dz*4)

:owpowm WWOMU a0wposvowm ®vwﬁwsaoﬁvom

91
QUOGT-qL-G9 —— | 3
gu9GT-qL-G9 - ]
F9GT-AL-G9 — | ]

9029 LVN

p12!

212t

o012t

(Suaeq) uo1309g SSOI)



